Combined Higher Secondary Level (10+2) Examination-2018
RollNo. |

Registration
No.

Name

Institute of Hardware Networking And Communication
Center2

Test Time 10:00 AM-11:00 AM
Test Date 10/07/2019

Test Venue

Section : General Intelligence

Q.1 39 fached &l g o1t AieR s1eR-grw & St aRe Haifla @ 9 gERT 31eR-gi ugst SieR-gE 9
Tefd g1
DH:HL::GK:?

Ans "1 KL
2.0
X 3.Lm
o 4.x0

Question ID : 98958017034
Status : Answered
Chosen Option: 1

Q.2 39 HE-gH &l - forad gt deand 3¢ avg Hafda & o9t for fR=faf@a den-ga A &t
MR- s

6:40

Ans &K 1.15:45
K 2.9:72
2503.5:25
o 47:53

Question ID : 98958017044
Status : Answered
Chosen Option : 4

Q.3 f=fafaa gfieror Ft @ TH & g 39d fra &) Rl ofik Twreil &t smuw & aee-
=ifeg?
10+8-200x%x 15+ 5=407

Ans  of 1 +3iR- 15310
X 2. +3R+, 200 3R 10
X 3.x3R- 53R15
X 4. xR+, 8RS

Question ID : 98958017043
Status : Not Answered
Chosen Option : --

Q.4 39 9q=Id &t g4 e g st avg Hefla § s fon fafof@e wyeoa & de]d s&6fda
gl

(16, 25, 82)
Ans X" 1 (25,49,81)

o 2.(36,49,170)




25 3.(25,36,51)
2 4.(11,121,110)

Question ID : 98958017046
Status : Answered
Chosen Option : 2

Q.5 af¥ BUS &l 126 & ¥u A shisag fohar man g ik FUEL &t 176 & &0 A sleag fhar man g, at
It st 9o & SHRUB ht h& shisdg fovar strgam?

Ans  of 1 340
52,204
X 3.68
& 4272

Question ID : 98958017033
Status : Not Answered
Chosen Option : --

Q.6 39 AE-GH A A forTH &t 2reg It avE Heifda § Y FrafafRe areg-gm d & eres Sfda &)
FTS : e
Ans X1 g gy
X 2 T A
25 3.9 s

o 4 g =

Question ID : 98958017038
Status : Answered
Chosen Option : 4

Q.7 fA=fafad ar el d @ i 21ee g fAfYa adids @ v S & ok Ueh 3o &1 39 31T 2USE ht
Eell
Ans  of 1 tae

2. e

X 3. wETs

X 45w

Question ID : 98958017040
Status : Answered
Chosen Option : 1

Q8 33 a9 3@ FT THA F{ S WA T F A9 F GOY H FEY FeoT AT 8

urs, o, e

Ans

v &)




Question ID : 98958017055
Status : Answered
Chosen Option : 1

¥ zw e @ I oA & 7 amly (X) IEfAled B

Ans

AN

X
T

=

o
N

Question ID : 98958017052
Status : Answered
Chosen Option : 1

Q.10 f=fef@e ar sier-Tg d & i sier-Tg ua FAffa a8 9 v 519 § ok Uk srevT 8139
ST SER-THg i A |

Ans X" 1 EGK
W 2 KM
< 3.DR
5 4.BDH

Question ID : 98958017039
Status : Answered
Chosen Option : 2

Q.11 3iSh ereaepier aufshn & orgaR PrfafRe el ot arfdher sty & afea ¥ |




1. Examine
2. Excited

3. Exclaim
4. Example
5. Execute

Ans X 1.4,1,35,2
&502.53,4,1,2
o 31,4235
41,4253

Question ID : 98958017031
Status : Answered
Chosen Option : 3

Q12 57 seow w1 I S A G T TEEH WA AT H IS TUH W HICH?

)
)

&g € |0 ?

~
(

(G

A B

< | (&)

Ans

~| B
[ 3

-~

x4 @

Question ID : 98958017050
Status : Answered
Chosen Option : 3

Q.13 e @< uTeT &, TRILOGY & OGYLTRI forat sirerm 1 Ieft urerm & FRAGILE aht & forar srgrm?
Ans X" 1. ALEGFRA

/X 2.ILEGFRB

5 3. ALEGFRI

o 4 ILEGFRA

Question ID : 98958017032
Status : Answered
Chosen Option : 3

Q.14 @7 T Ry g &, = @ i Freamd |, 11 3R 11l g 71Q €)1 vl M s wd gu, v @ @
3T R R AT 9241 | 31l 714 i, ag fAvfa ifSig & &= a/& e, st a1 arfdhes =0




@ FFEROT hT &/ &

FHU:

Tt gfifaf o2 &
Taft geft 32 &1
o IS W EI

forsep:
. o W2 EI

II. 5 i2 gifar 1
Ill. o i3 ueft &

Ans X" 1. et e | SR 1| SITERT R §
25 2.7 e |1 111 SrgeRor ahed &1
25 3. Sarer Freemd | SEROT AT R1
o 4 @f fread srgeror awa &

Question ID : 98958017041
Status : Answered
Chosen Option : 4

S s @ o T o R P s B

AN

Ans X111
X2 7
v 9
X4 8

Question ID : 98958017051
Status : Answered
Chosen Option: 3

Q.16 U9 oI Hay Mg A3 argg o ‘s awrday _____ | @l
Ans  of 1 G

K 2. 3R

25 3. R

75 4. oREr

Question ID : 98958017035
Status : Answered
Chosen Option : 1

Q17 spw gdor # FFT F o AR @ A A& TS G N wE ador 57 F

A5TP

Ans

<11 92TA




v2| qTaA

<3| PTCA

<4+ AGTP

Question ID : 98958017054
Status : Answered
Chosen Option : 2

Q.18 we & urir & & eer-arereT Pufad’ @ gafer T ¥ F€ H@EUT 3 §EE ¢ geh, a §ed A amer
FoF 9T FI-AT A9 gEm?

Ans X1 4
v 1
X35
X4 2

Question ID : 98958017049
Status : Answered
Chosen Option : 2

Q.19 fA=fef@d IR dEarei d & i e v Afya a8 @ v St € ok Uer 31 81 @8 S
A St o1 HeEAnadt § o &1

Ans X' 1145
52,235
X 3.325
of 4425

Question ID : 98958017048
Status : Answered
Chosen Option : 4

Q.20 @S] guHAT i Ut Taeht @ Aeraran, "g1h (AT &) T & sowdla a2 A aeit A8 I 81"
oy T ufel gomT & e Hefda g?

Ans x-|m—5‘
25 2.

W 3. st

& 4.3

Question ID : 98958017037
Status : Answered
Chosen Option : 3

Q.21 fAwafafEa sjaen 7 ust g (?) & T R FiF-+ w@wEr sgfi?

1,2, 6,24,120,?

Ans  of' 1 720




252,240
5 3.360
5 4.570

Question ID : 98958017047
Status : Answered
Chosen Option: 1

Q.22 3T 1 SHEst 2018 &t HiFaR o, &t 31 fawer 2018 &t Tt o1 i 61 fam ur?
Ans X' 1 spRaR

o 2 dmErR

75 3. RER

X 4. TTeER

Question ID : 98958017042
Status : Answered
Chosen Option: 3

Q.23 fAfafEa sjaen d ust g (?) & T R &9 91 31eR-g ATQI?
GD, IF, ?, SP, AX

Ans x 1.NM
v 2w
3.0k
&4 MN

Question ID : 98958017036
Status : Answered
Chosen Option : 2

Q.24 I9 =T ol A fH HEag I avg Hafda & 9 o o =g & dend S&6fda
gl

(24, 48, 36)
Ans X" 1. (45,49,77)
o 2.(25,49,37)
25 3.(15,49,37)
25 4.(26, 58, 46)

Question ID : 98958017045
Status : Not Answered
Chosen Option : --

Q.25 v T W HEaR FE R A § oS & A & o wmpty (X Y st 2) & Rmwr o d 3w
e @1 9o orme geirr i § R 6 #ete & S T 98 T s &

~ ‘} O,

X Y Z

Ans

D O
@ O

v




| g ©
XZ(DB

'3.9@
18 6
B CE:
"“18 B

Question ID : 98958017053
Status : Answered
Chosen Option : 1

Section : General Awareness

Q.1 der g ATSER! TATH e & ATeaw Q, AMyUR-uTRa A9 & fAg emeRe (sifa fir
qeeft) TheT yHAToRROT Gl RS A aTAT 327 T U Ak 7 AT &1

Ans (1_@3
X 2.3
p T
p T

Question ID : 98958017484
Status : Answered
Chosen Option : 2

Q.2 HRa & fra woa @ et A & ad= Hefa &2
Ans X" 1 gy R

X 2 g m

W 3. sRmy

X 4. Rarae ey

Question ID : 98958017482
Status : Answered
Chosen Option : 2

Q.3 anfe farerra & alvrer & fog fohd ‘asrdarTa TegTor wta QRehR 2018' R man &2
Ans X" 1w @

o 2. TR

25 3. arfe gemua

K 4. fwet strer

Question ID : 98958017496
Status : Answered
Chosen Option : 2

Q.4 a4 2018 & fog A & @ forw e &t fasTea a1 enroft & 20 fEFdheR Sifth & $aR g=T Ta?
Ans XX 1 dmge
25 2. Afea emf




of 3. frre Fseh
X 4 R @

Question ID : 98958017502
Status : Answered
Chosen Option : 3

Q.5 F=fafea & & aume & Sl 3 - 82
Ans X" 1 JoimR Thel

o 2 e

X 3 g

5 4. e

Question ID : 98958017485
Status : Answered
Chosen Option : 2

Q.6 fRurera uda sien & ar & Prafafla # & #-a1 sy o 78 &2
Ans X 1 ggeh geR I8 A1 R RRATEY ekt e 81
< 2. Rrafores adamen Hfedt grr g e s srEdt & o 1
25 3. Raf e R drge @ o 81
of 4. Rt & weftad <faror § fra siaen @t Rt wer o 21

Question ID : 98958017493
Status : Answered
Chosen Option: 2

Q.7 A9 YR e UIES 2019 & Heof F, Fmfaf@a § @ siv-a1 sy a8t 78 82
Ans X' 1 g8 R I AefRde STt AHen I & forg feam mar e

o 2. sremef g e SR aret g sRat ke &

25 3. s srerreff & gREnR st o)

25 4. reeff o &Y <6 areh 81

Question ID : 98958017497
Status : Answered
Chosen Option : 3

Q.8 =R fAwew d Iumin i S arelt a5 aa gt &1

Ans < 1.z
2.
53 T
43
Question ID : 98958017487
Status : Answered
Chosen Option : 1
Q.9 2 2019 sefem= eftu=r & Aige et T Sfiam

Ans X" 1 =it sitgren
o 2. R it
X 3. R g
2 4. Sgr aler




Question ID : 98958017501
Status : Answered
Chosen Option: 1

Q.10 YT 3R TR tienfihY & &= &, FDD 1 guf = o 872
Ans X' 1 wifd erer grga

V2. it e g

X 3. e Rwh grga

X 4 wiek e gz

Question ID : 98958017488
Status : Not Answered
Chosen Option : --

Q.11 WRa A ugell gof o ad ___ A Ry s o
Ans  of 1 1881

25 2.1891

/X 3.1885

5 4.1873

Question ID : 98958017491
Status : Answered
Chosen Option: 1

Q.12 H1ARM AT fgdt VA ol iR AT 8?
Ans B 1 mem R

X 2. 7R

p

o 4w

Question ID : 98958017490
Status : Not Answered
Chosen Option : --

Q.13 PRI & @ #- wada afify F aeaan o # o aew 78 dan
Ans X 1. i ot afifa

25 2. wrdifres SusHt et afafy
X 3w iy
W 4. e sy

Question ID : 98958017499
Status : Answered
Chosen Option : 2

Q.14 1917 &, Agrean wieht A Tor™a & G et & eamg foras gwda & forar ur?
Ans X 1. cure fiver 3 ol b org it dgae oTedt i e 7R 1

X 2. TS arfeanfa & wemTd SfRehRY eh Seeie fahar o g1 Tl

of 3.7 Rt 3 R it vt o RrreraT ofik T @ wenfard 4

25 4. 37 afRenen & g ot g RiqardTens eaare & et Fed o <8 off|

Question ID : 98958017495
Status : Answered
Chosen Option: 1




Q.15 gHle fFa wog &1 w@aft urkule arearea a3 &2
Ans (1_@3”

X 2. o

X 3. sy ma

p R

Question ID : 98958017503
Status : Not Answered
Chosen Option : --

Q.16 f=fafaa d @ fore v =t wgHt werd & A Gl & fear ma @2
Ans XLW

25 2. et

of 3. FfeE

X 4. fer

Question ID : 98958017481
Status : Not Answered
Chosen Option : --

Q.17 a8 =aret & &R o R aifoSes de orusft w1y srafY i o1 sIveval ol gR1 <A & foIg RBI &
o IUR A &, ! fohT 1 @ 1= Sirar 82

Ans X' 1 g R @
25 2. 3ugE SMER &
X 3. gifafde urR &

v R L

Question ID : 98958017483
Status : Not Answered
Chosen Option : --

Q.18 forelt sitea aawer eaf~h & forg @afr Y sreg Him frait 87
Ans X" 1.2 Hz-2000 Hz

5 2.20 Hz - 2000 Hz

of 3.20 Hz- 20000 Hz

5 4.2 Hz-20000 Hz

Question ID : 98958017486
Status : Not Answered
Chosen Option : --

Q.19 AT T Yk QAT 1 QU & et g umafaes femeral # a<ai ot {8} ofik sittsht & usa
i e F 7Eg HAT 81

Ans x-|qg3r
W 2
p R

K 4 dE

Question ID : 98958017504
Status : Not Answered
Chosen Option : --

Q.20 g & # & gR1 = fhy 71g u=ATYy] Swif-wanfera sichfees smgwsieR? ot o A1 82

Ans




v
X 2. v
X 3.dem
p S ACIEE]

Question ID : 98958017505
Status : Not Answered
Chosen Option : --

Q.21 ICC & TAfSHT R ik € $aR 2018 ______ <Rl ST 14|
Ans  of 1 st

& 2. @A

X 3. e Aoforts

25 4. Afka amf

Question ID : 98958017500
Status : Not Answered
Chosen Option : --

Q.22 f3fSiea duger & ded &, Fmfaf@a d @ w19-8 siwl & g & a1 s & w9 F s S
&

Ans "1 13R2
& 2.33R4

of 3031

4283

Question ID : 98958017489
Status : Not Answered
Chosen Option : --

Q.23 =@ # @ frd gewrerTei= Tuw @ a1 are 8= & areq s &2
Ans x 1@533‘1’

X 2. dgsieer

of 3. Frfem

5 4. geum

Question ID : 98958017494
Status : Not Answered
Chosen Option : --

Q.24 P Radfrh & dedf §, Frefafaa 3 @ #9-a1 su= af a8 &2
Ans  off 1 RS e F B2 T eI G 2
X 2. 3R ey &R w0 ¥ TRRRERR & SR Fedt &
X 3. vt @, 7 thies veret Refl, @t ok / o faedel & Rl gd &
25 4. g &) gaE B O v e F e fevar mar g

Question ID : 98958017492
Status : Not Answered
Chosen Option : --

Q.25 I AT FfE WRA & Igafa g1
Ans X' 1157

of 2144




03,133
&K 4163

Question ID : 98958017498
Status : Not Answered
Chosen Option : --

Section : Quantitative Aptitude

Q.1 & argst &1 T w7 7ew 32,000 &) 308 F vH A 12% F o W 0 A0 § v g@hoaro12% Hr
g 9T AT A §| FH oF-AA H GAT A 1.2% F| AT A TEG HFOFT o @

Ans 1. ¥1,050
< 2 31,080
< 331,120
v 4 31,100

Question ID : 98958017587
Status : Answered
Chosen Option : 4

Q2 goms sars F Tdiw aRE T H I TF FHAg TR aae & e G S g1 fe @ e
g

e XK1 3V3 T s
X 2 83 T T
X3 243 T 5
Vi 443 T TS

Question ID : 98958017583
Status : Not Answered
Chosen Option : --

Q.3 a7 7 & AW (SX WH) T Tees F O #{= F @ (A) #t wEE T (B) # o § oI
100 32 1 WA e ¥ aAw 916 @ B FEA F WEF 1T Fad § TS I (B) # N & @i
B A g, 59 FE T R AW A s ¥ FH 30 W =T

120
100100

100
%0
80
50 s
i 25 ma
30 =g
20
o
1 2 3 4 5

Match

Run scored & strike Rate
5 8

8

At A9 # Teods & e et @ wEa
as X130

X 2 50
X3 60
v 40

Question ID : 98958017602
Status : Not Answered
Chosen Option : --




L

Q4 16 v, vfafew 12 = F FX §e, Tl Fw @ 27 Rt # U AW wAA §, A sfofa e 9w
F1H FT gU, 18 IW IW FH H 24 fo # qU W wwa B2

Ans X118
X216
X3 9
v 12

Question ID : 98958017581
Status : Answered
Chosen Option : 4

Q.5 far &8 3ME (TR TE) FET seaar & 9w d=9 &F = (A) A wEF I (B) # e & 9y
100 & &1 WHAT TS Y S8 a1 (A HT HEAT 1 KIS+ IC Fed 21 FeF I (B) & g & asfr
oram S 8, 99 FiE g A 39 H w9 ¥ #7130 & 9=

120
100100

100
90
80

& 75

e 45 uA
40 30 L1

2
o
1 2 3 4 5

Match

Run scored & strike Rate
8 a

o 3t & eeETs 2@ FE T A W A
Ans X 1. 45

V2 49

X 3 56.25

X 4 50

Question ID : 98958017603
Status : Not Answered
Chosen Option : --

Q.6 8,000 & A, B 3T C & &9 3@ Yo faaita & =iar & & 3=¢ ##sn 500, 3200 3T 3100 &
e o g &1 39 g Ao TR 15 : 2 3 F arged & §) TB00, 7200 3w T100 F Arer Fr
TEAT F HFIS FAT A?

A of1.3:1:3
X24:1:2
X33:3:1
X43:2:2

Question ID : 98958017588
Status : Not Answered
Chosen Option : --

Q7 AABC, # A & BC 9T AD ##aa & 3R £BAC = 90°, § & AB2:AC? =% &
Anrs X 1. BD?:CD?

X 2 CD?:BD?

v 3 BD:CD

X 4 CD:BD




Question ID : 98958017598
Status : Answered
Chosen Option : 3

¥ R=fafee & @ #lad g=w 7, 11 3k 13 ¥ o s §2
Ans X 1. 15004

X 2 14993

X 314982

' 2 15015

Question ID : 98958017590
Status : Answered
Chosen Option : 4

Q.9 ¥ & oy wE vE e F wan G S H9-i 38 8 ¥ # N &Y S §, e 39 § g
T Fr UF SEA-IH 3W 20 FFE F UR AT &1 A AT FT TH-GAT FUN B F (@FT H) g
THT wEET?

Ans X115

1
v 2 13_
3

<320
1

Question ID : 98958017582
Status : Not Answered
Chosen Option : --

Q.10 =rr Fr Frvar # 20% Fr 3 g8 & Ao A 79 & BT 9w T # Faa 15% F@S F wwer G
T F Rw g F T T S AT @ H OB @ & O A3 A @9 (GAEEd F U R
TF) T TFaw 9faeE FH FTA AT

ans X 1. 5.4
X248
X356
v 42

Question ID : 98958017586
Status : Not Answered
Chosen Option : --

Q.11




ez 7T g7 AW (A ) T sedarsr F uiw f=F F = (A) 3T w=EE ' (B) #r guter &1 wfy
100 #ET T WHAT FLT T ol TS A HT HEAT F FESF I FES &1 TS 1T (B) B NES H i
orm S 8, 99 g g A 39 H 79 ¥ #7430 & 9=

120
100100

100
0
80
80 75
50 45 A
40 30 L1
20
0
o
1 2 3 4 5

Match

Run scored & strike Rate
3

s 39 F aeems A e S # a5 3 fhas T aee e A gay AR 9
T F FEES T W seT 120 g s

ans X1.160
V2 150
X3 240
X 4120

Question ID : 98958017605
Status : Not Answered
Chosen Option : --

Q.12 Two circles of diameters 4.8 cm and 8 cm are such that the distance between their centres is 6.5 cm.
‘What is the length of a common tangent to the circles that does not intersect the line joining the

centres?

Ans X' 1. 6.0 cm
< 2 6.1cm
V'3 63cm
X 4 6.2cm

Question ID : 98958017596
Status : Not Answered
Chosen Option : --

Q.13 A & 31 RgeR 2015 1 39 S5 B @ 31,000 1 UM 50 91 W 3uR o & a8 ok a¥ a1 3@
12% & WIEROT S0 3 WY SHeTwe| g A, 1 A5 2016 & 4@ dterer #1 fEufy & o1 =er 81 B =
38 fFa=T Y Ty == 2

Ans 1. 31,040
< 2. 31,3315
< 331,120
< 4 71,045

Question ID : 98958017589
Status : Not Answered
Chosen Option : --

Q.14




ez 7T g7 AW (A ) T sedarsr F uiw f=F F = (A) 3T w=EE ' (B) #r guter &1 wfy
100 #ET T WHAT FLT T ol TS A HT HEAT F FESF I FES &1 TS 1T (B) B NES H i
o ST 3, 99 FiE gees A 39 H w0 § #7430 & 9= 2

120
100100

100
%
80

50 s

i 45 ma
40 30 =g

0
o
1 2 3 4 5

Match

Run scored & strike Rate
8 g

Feaa & e e T o i
Ans ?(1- 89

X2 955

X 3.90.75

v+ 9125

Chosen Option : --

Question ID : 98958017604
Status : Not Answered

Q.15 cos cosf x cos B

g ary IR g

sinx+cosf  sinff—cosx T sin o—cosf = sinfi+cosx
Ans x 1. Siﬂﬁ
X 2 sin o«
X 3. cosf

(4 Cos o

Chosen Option : --

Question ID : 98958017600
Status : Not Answered

Q16 faml g7 & ¥EX v TfiT Yoo a9 T ¥ 39 F S9he o AT 6 39 4T W O § S
ST G FaT FE Tk T 7

Ans 27
], —
v 2m—343
2
2' .
X5

w

p 43 —n—aﬁ
x4. u"_ﬁ

Chosen Option : 1

Question ID : 98958017595
Status : Answered

Q17 o 0w =g P07 ¥, IR 4(2sin?0 + Tcos?6) = 13 ¥l 0 @ A FT ¥?
Ans  of 1. 60°

X 2 30°

X3 00




X 4 450

Question ID : 98958017601
Status : Answered
Chosen Option : 1

Q18 o (x+9)i+ (v +2i= —(z+x)s ¥, 3 (3 +y% +2%) I 5T TR TaT BT o7 gET
A .
ns x‘l- ixyz
V2 Sx+)+DE+x)
X 3 3xyz

Ka(x+y)(y+2)(z+x)

Question ID : 98958017594
Status : Not Answered
Chosen Option : --

Q.19 fpr ABC &7 fig A, ¥l 37 BC & TAeiot woam 1 Beafaf@s & & &1, BC & TaeioT fhar
el Y@ F T Teer i

(a) 9fRFE (circumcentre)
(b) & (centroid)
(c) 3=a:FF (incentre)

(d) wFE (orthocentre)
Ans x 1 (C]

X2 (d)

X3 (a)

v - (b)

Question ID : 98958017597
Status : Answered
Chosen Option: 1

Q20 5 b, ¢ &T UATHF TEAT 57 TFR & & (a+b+c)=20,a% + b +¢? = 152
2l (ab+bc+ ca) & AT T &

ans X 1110
X2 102
X3 112
v 124

Question ID : 98958017593
Status : Answered
Chosen Option : 4

Q21 el 7w & e 7pd W FAEFT A9 ge, 19% & Tl wee oo % wAge ¢ 3 weer ik gmd
TT Fr gl FA 10% iR 4% E ST I oe Fam a2

Ans  of 1. 6.25%
X 2 6.00%
X 3 5.25%
X 4 7.50%




Question ID : 98958017585
Status : Answered
Chosen Option : 1

Ans x
‘|. PN
15
. 2z
2. P
x 15
. 1
3. ez
x 5
Va1
Question ID : 98958017591
Status : Answered
Chosen Option : 4
% qerr 1234 Fearat & aitea 1234 & e ¥

Question ID : 98958017584
Status : Not Answered
Chosen Option : --

Question ID : 98958017592
Status : Answered
Chosen Option : 4

Q25 3w sin@ + cosecld = 2, & @, (sin'>30 + cosec?52@) =T AT FT g7

Ans Ic3
X o
1
153x253

X 2

X3E

253

2




Question ID : 98958017599
Status : Answered
Chosen Option : 4

Section : English Language

Q.1

Select the most appropriate word for the given group of words

a group of stars found close together

Ans X" 1. confederation

( 2. constellation

X 3. concoction

x 4. conflagration

Question ID : 98958016724
Status : Answered
Chosen Option : 2

Q.2 Select the correct indirect form of the given sentence.

Ans

Hemant said to the hotel receptionist, "Please tell Bharat | will come to see him tomorrow at
10 am."

( 1. Hemant requested the hotel receptionist to inform Bharat that he would come to see
him the next day at 10 am.

X 2. Hemant said to the hotel receptionist please to tell Bharat he will come to see me
tomorrow at 10 am.

x 3. Hemant said to the hotel receptionist to please tell Bharat that | will come to see him
tomorrow at 10 am.

x 4. Hemant requested to the hotel receptionist please inform Bharat | will come to see
him tomorrow at 10 am.

Question ID : 98958016707
Status : Answered
Chosen Option: 1

Q.3

Ans

Select the most appropriate word to fill in the blank.

Necessary support to
consortium.

o 1. facilitate
x 2. complicate
x 3. felicitate

X 4. confuse

the process of sale is being extended by the banks in the

Question ID : 98958016729
Status : Answered
Chosen Option: 1

Q.4
Ans

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

It's turning out to be a tough summer for the State. With an alarming dip (1)
groundwater levels across (2) state, experts fear residents (3) soon have to
battle an (4) water crisis, along (5) extremely high temperatures.

SubQuestion No : 4
Select the most appropriate option to fill in blank No.1.

Jlin
75 2. with
x 3.0on




x 4. from

Question ID : 98958016711
Status : Answered
Chosen Option : 3

Q.5
Ans

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

It's turning out to be a tough summer for the State. With an alarming dip (1)
groundwater levels across (2) state, experts fear residents (3) soon have to
battle an (4) water crisis, along (5) extremely high temperatures.

SubQuestion No : 5
Select the most appropriate option to fill in blank No.2.

W 1 the
X 2. nearby
75 3.l

x 4. every

Question ID : 98958016712
Status : Answered
Chosen Option: 1

Q.6
Ans

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

It's turning out to be a tough summer for the State. With an alarming dip (1)
groundwater levels across (2) state, experts fear residents (3) soon have to
battle an (4) water crisis, along (5) extremely high temperatures.

SubQuestion No : 6
Select the most appropriate option to fill in blank No.3.

J 1. might
x 2. should
75 3. shall
x 4.can

Question ID : 98958016713
Status : Answered
Chosen Option : 1

Q.7
Ans

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

It's turning out to be a tough summer for the State. With an alarming dip (1)
groundwater levels across (2) state, experts fear residents (3) soon have to
battle an (4) water crisis, along (5) extremely high temperatures.

SubQuestion No : 7
Select the most appropriate option to fill in blank No.4.

75 1. average

x 2. unknown

J 3. acute
25 4. unlikely

Question ID : 98958016714
Status : Answered
Chosen Option : 4




Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

It's turning out to be a tough summer for the State. With an alarming dip (1)
groundwater levels across (2) state, experts fear residents (3) soon have to
battle an (4) water crisis, along (5) extremely high temperatures.

SubQuestion No : 8
Q.8 Select the most appropriate option to fill in blank No.5.

Ans X1 1o
X 2. from
x 3. by
W 4. with

Question ID : 98958016715
Status : Answered
Chosen Option : 4

Q.9 Select the most appropriate synonym of the given word.

OSTENTATIOUS
Ans X" 1 complete

( 2. flashy
x 3. trusted
X 4. distinct

Question ID : 98958016719
Status : Answered
Chosen Option: 2

Q.10 Select the most appropriate antonym of the given word.

SALIENT
Ans X" 1. prominent

x 2. striking
( 3. negligible
x 4. clear

Question ID : 98958016721
Status : Answered
Chosen Option : 1

Q.11 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No improvement.

A spokesperson of the company explained that the media had misrepresented the facts
about the accident in their building.

Ans x 1. misrepresent the facts on the accident
( 2. No improvement
x 3. misrepresenting the facts about the accident

x 4. misrepresents the facts for an accident

Question ID : 98958016709
Status : Answered
Chosen Option : 1

Q.12 Select the most appropriate synonym of the given word.

IDENTICAL




Ans X" 1. detailed
x 2. legible
x 3. perfect
( 4. similar

Question ID : 98958016718
Status : Answered
Chosen Option : 4

Q.13 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No improvement.

There was a long queue at the post office and by the time | have reached the counter | was
told the printer was not working.

Ans X" 1. No improvement

x 2. 1 am reaching the counter
« 3. I reached the counter

x 4. | reach the counter

Question ID : 98958016708
Status : Answered
Chosen Option : 3

Q.14 Identify the segment in the sentence which contains the grammatical error.

The lady listened carefully to my complaint but | doubt she will do anything about it.
Ans 3" 1. will do anything about it

« 2. but | doubt she
x 3. to my complaint
x 4. The lady listened carefully

Question ID : 98958016705
Status : Answered
Chosen Option : 1

Q.15 Given below are four jumbled sentences. Out of the given options pick the one that gives
their correct order.

A. | should have charged double the amount, but it didn't occur to me then.

B. Now, after all the expenses and the gardener's salary, | made a profit of only five hundred
rupees.

C. The jasmine plants flowered twice and | sold 250 grams of buds just for ten rupees.

D. Had I charged at least twenty rupees | would have made a good profit.

Ans  of 1 CADB

5 2.BDAC
< 3.BCDA
75 4.ADCB

Question ID : 98958016716
Status : Answered
Chosen Option: 1

Q.16 Given below are four jumbled sentences. Out of the given options pick the one that gives
their correct order.

A. Gone are the days when you stayed with one firm for your entire career and made lifelong
friends in the office.

B. This phenomenon was noted in a recent research report which found that the median
tenure for employees below the age of 30 is just two years.

C. The research report stated that young people today are tempted to switch jobs quickly.

D. As job longevity becomes a phenomenon of the past, there is a change in attitude in the
modern generation towards employment.




Ans  of 1 DBCA

<5 2.CDAB
75 3.DCBA
75 4.BADC

Question ID : 98958016717
Status : Answered
Chosen Option : 3

Q.17 Select the most appropriate antonym of the given word.

COMPLACENT
Ans X" 1 confident

o 2. humble

X 3. satisfied

x 4. trusted

Question ID : 98958016720
Status : Answered
Chosen Option : 4

Q.18 Select the most appropriate word to fill in the blank.

Any account of the reign of King Harsha would remain without a reference to Hiuen
Tsang.

Ans X" 1. famous

( 2. incomplete
x 3. eminent
x 4. unknown

Question ID : 98958016728
Status : Answered
Chosen Option : 2

Q.19 Select the most appropriate word for the given group of words

place for collection of dried plant specimens
Ans X" 1 green house

( 2. herbarium
x 3. warehouse

x 4. nursery

Question ID : 98958016725
Status : Answered
Chosen Option : 3

Q.20 Select the correctly spelt word.
Ans X" 1 quallification

x 2. quantefy

x 3. queiten

“ 4. questionnaire

Question ID : 98958016726
Status : Answered
Chosen Option : 4




Q.21 Select the most appropriate meaning of the given idiom

left-handed compliment

Ans X 1. insulting someone in front of others
x 2. praise that is given directly
X 3. making fun of someone to tease them

( 4. insulting remark appearing as praise

Question ID : 98958016723
Status : Answered
Chosen Option : 4

Q.22 Select the wrongly spelt word.
Ans X" 1 whimsical

i 2. spectaculer
x 3. contiguous
x 4. adjacent

Question ID : 98958016727
Status : Answered
Chosen Option : 2

Q.23 Select the correct passive form of the given sentence.

You have made a mistake in writing your answer.
Ans

X 1. A mistake have been made by you in writing your answer.
x 2. A mistake had been made by you in writing your answer.
f 3. A mistake has been made by you in writing your answer.

X 4. A mistake is being made by you in writing your answer.

Question ID : 98958016706
Status : Answered
Chosen Option : 3

Q.24 Select the most appropriate meaning of the given idiom

bolt from the blue

Ans x 1. someone who runs fast and wins a race
x 2. locking the doors to keep the rain out
X 3. winning after losing a game many times

( 4. something sudden that happens unexpectedly

Question ID : 98958016722
Status : Answered
Chosen Option : 4

was going to host a live show.

Ans x 1. in many television serials earlier
x 2. this was the first time
x 3. she was going to host

( 4. Inspite Smita had taken part

Q.25 Identify the segment in the sentence which contains the grammatical error.

Inspite Smita had taken part in many television serials earlier, this was the first time she

Question ID : 98958016704
Status : Answered




Chosen Option : 4
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